Square And Square Roots
Ex. 5.4

+ X



20

(

z
(N
-+

)
‘—:
+

o
]
q
o

]

0 F3Y
o33

(¢

0 F3FY
4| 0-6apo 0O
+ 3] -Y49

1473 1100
£ 3+ —-1029

154y 3100

6136

9 2y




(1

]

{4

(1

1|

(¢

0-912

+ 9

0- 833323
-1

181
+ 1

233
—1R1

1822

5233
—364Y

—
1
N L)

AR
J 1L

15k 1

J1 626363
1-239

1-28

(E - 0912
6
2-6Ro
2| F18FISp0
+2 (-4
Y6 | 318
+ 6 |-236
528 4235
181 -422Y4
5360 S1o00
— 0
S1lo0
1-2 39
1] 1636363
+1]-1
22 63
t2| -4y
24%F 1363
t 3] —1329
2549 23463
— 22944
822

N
~

0-91



(1

(¢

L

(¢

(I

4

2:-236
2-24

EY

1332
1.33

Jlo
3:162
3-16

2| 5-000000
t2| -y
42| Loo
t2| —-RY
443 16 oo
t3| —-1329
A CIYS 2 F1 oo
—26 396
30Y
_1-332
1| 3:-00 0000
+1 (-1
23| 200
+3|-1.R9
343 lio0
+231] -1029
3462 F+1loo
-692Y4
136
3-162
3| Llo-po oo 00
13[-9
61| loo
+1| —61
626 39 oo
t 6] -33S6
6322 14%00
- 1264Y%
1456




|13

@

)

04

{4

3:605
361

(1

0-89Y
0-89

{4332

2-090
2:-09

3:605

2| 13- 0000 00
2] -9
66 Yoo
*6| —39¢
‘20 Yoo
+o0 - D
+205 4 o000
—36025
39 15
0-89Yy
8| 08000 .00
+8] -6y
169 16 oo
+9 -1821
1384 49 00
- 3136
F6H
2-090

2| 4332000
+2 |- Y

Yo 3F

+ 0 - 0
o4 3320
+9 | —36R1
1180 3900

— (o)

| 300



(4

{2

<

(

(¢

J 2412
Y-91o0
4-91

J o o187

0-136
0-1lY4

J31xﬁ
1-3346
1.335

Y

910

4| 24
+4]-16

.12 0000

Ra| 8
L

12

801

Rl

1100

1 - 981

R20

119po

1190

o-13¢

+1

0-018% po

23
+3

266

+1

23
+3

3y3
13

246y
1Y
34686




N

2893

J1S16 32| L5-L6 po oo
3-R93 +3[-9
3-89 68| 616
+R -S4y
169 F2o00
9| -6921
F3R3 2739 oo
— 23349
4yssi
09 4R
703000
+9q] -%1
1%y 9 00
t4] —336
1RR 8 164 oo
—151oM
1296
Joq = 0348
= 0-9s
C I;3'¢cy3

i&mﬁﬁl--gﬁ Jﬂdbm%ﬂL,lﬁ=iHm~
Breodkl \0-6— W,L:il%

Foroo- Q%- ibJCMT#L::wab

= 1lux 11
1SY w?
Lo foue o aquore = 0F wq w

(1l



t8s¢

M-&{\W:m-&&

G.r= 1584
&= Jisy 12409
o= 12-48 1| 1s4-000000
> 1241 +1] -1
22 g4
S Ad, \eﬁ- Wq_;\;ll"(lw +2] -4y
24y Lo oo
+4| -936
24R0 24 00
+ 0 — 0
24R09 240000
- 2232 81

16%19



